

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: January 17, 2023

· ·	timate Number 25		211119-A08 Widel, Inc.	Pay Perio Pay Perio		anuary 2, anuary 15		Net Chang	ontract Amount ge Order Amount ontract Amount	\$1,143,839.55 \$14,163.31 \$1,158,002.86
Approval Date										By User
January 17, 2023		Ge	nerated and	Approved (a	and should b	e conside	ered Dra	ft) at the Pro	ject Office Level by	huntb1
January 18, 2023		Review	ed and Appro	oved (and sh	nould be cor	nsidered [Draft) at	the Residen	Engineer Level by	stronk1
January 19, 2023				Reviewed a	nd Approve	d at the C	entral O	ffice Control	lers Office Level by	ramses1
Original Com	pletion Date	Current Completion	on Date	Actual	l Completic	on Date		% of Curr	ent Contract Amour	nt Complete
Decembe	er 1, 2022	December 1, 2	022						100.11%	
Co	ontract Information	al Dates					Mile	stones		
Date Description	Original Completion Date	Current Completion Date		escription	Orig Completi		_	urrent letion Date	Days Remaining or Milestone	Diary Charge Days
Acceptance Date			Milestor Calenda		July 22, 2	022	August	15, 2022	-15	57
Awarded Date	December 1, 2021	December 1, 2021								
Letting Date	November 19, 202	November 19, 2021								
Notice to Proceed Date	January 3, 2022	January 3, 2022								
Open to Traffic Date	September 28, 2022	September 28, 2022								
Work Began Date										

Contract Total Pay For Estimate No. 25			
	This Estimate	Previous	To Date
211119-A08			
Total Posted Items Pay	\$0.00	\$1,159,234.59	\$1,159,234.59
Gross Item Adjustments	\$0.00	(\$5,375.26)	(\$5,375.26)
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damage	\$0.00	(\$76,500.00)	(\$76,500.00)
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
•	•	\$1,077,359.33	\$1,077,359.33
Contract Total Payable This Estimate:	\$0.00		
Itama Baid This Estimate Baried			

Items Paid This Estimate Period

No Data Available

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

	,	nents This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J1S3213	0170	SEEDING - COOL SEASON GRASSES	MaterialCredit			0.1	\$10,640.00	\$1,064.00
	0170	SEEDING - COOL SEASON GRASSES	Material			-0.1	\$10,640.00	(\$1,064.00)
	0220	TYPE 1D EROSION CONTROL BLANKET	MaterialCredit			689	\$3.60	\$2,480.40
	0220	TYPE 1D EROSION CONTROL BLANKET	Material			-689	\$3.60	(\$2,480.40)
Total								\$0.00

Revision 4/1/2020 Page 1 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
J1S3213		Bridge replacement	В	GENTRY	over Grantham Creek 1 mile north of Rte. O near Ravenwood.							

Revision 4/1/2020 Page 2 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J1S3213, Item 8051000A, Project Item Line Number 0170, Material Set 8051000A96, Material 0801FZ - Fertilizer, Acceptance Action Generic 0801FZ is insufficient.	Waiting on Certs	huntb1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1S3213, Item 8051000A, Project Item Line Number 0170, Material Set 8051000A96, Material 0802MLST - Mulch Straw (Vegetative Mulch), Acceptance Action Generic 0802MLST is insufficient.	Waiting on Certs	huntb1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1S3213, Item 8064134, Project Item Line Number 0220, Material Set 806413496, Material 0806EKBL - Erosion Control Blanket, Acceptance Action Generic 0806EKBL is insufficient.	Waiting on Certs	huntb1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 211119-A08, Contract Project J1S3213, Project Item Line Number 0140, Contract Line Item Number 0140, Item 6206001C, Minor Item.	Will be in upcoming change order	huntb1	Acknowledged

Revision 4/1/2020 Page 3 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted a Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved	Unit Price	Total Value POSTE To Date (See repor generated date)
11119-A08	J1S3213	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	Qty 1.00	\$4,800.00	\$4,800.0
11110-7100	0100210	0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$2,340.00	\$2,340.0
		0001	0030	2031000	CLASS A EXCAVATION	2.00	0.00	2.00	CUYD	2.00	\$37.20	\$74.4
		0001	0040	2035500	EMBANKMENT IN PLACE	284.00	0.00	284.00	CUYD	284.00	\$31.45	\$8,931.8
		0001	0050	2037075	COMPACTING IN CUT	2.00	0.00	2.00	STA	2.00	\$631.10	\$1,262.
		0001	0060	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	605.00	74.70	679.70	SQYD	679.70	\$13.60	\$9,243.
		0001	0070	4019905	MISC.OPTIONAL PAVEMENT	558.20	61.33	619.53	SQYD	619.53	\$101.00	\$62,572.
		0001	0080	6113020	FURNISHING TYPE 2 ROCK BLANKET	567.00	61.40	628.40	CUYD	628.40	\$52.00	\$32,676.
		0001	0090	6113040	PLACING TYPE 2 ROCK BLANKET	567.00	61.40	628.40	CUYD	628.40	\$13.00	\$8,169
			0100	6161005	CONSTRUCTION SIGNS	109.00	0.00	109.00	SQFT	109.00	\$21.30	\$2,321
		0001					0.00		EA			
		0001	0110	6161030	TYPE III MOVEABLE BARRICADE	4.00		4.00		4.00	\$320.00	\$1,280
		0001	0120	6161052	WARNING LIGHT, TYPE B	8.00	0.00	8.00	EA	8.00	\$85.00	\$680
		0001	0130	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00		\$0
		0001	0131	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$36,404.00	\$36,404
		0001	0140	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	636.00	0.00	636.00	LF	1,100.80	\$2.65	\$2,917
		0001	0150	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	850.00	92.56	942.56	SQYD	942.56	\$2.80	\$2,639
		0001	0160	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$8,000.00	\$8,000
		0001	0170	8051000A	SEEDING - COOL SEASON GRASSES	0.10	0.00	0.10	ACRE	0.10	\$10,640.00	\$1,064
		0001	0180	8061006	ALTERNATE DITCH CHECK	36.00	43.00	79.00	LF	79.00	\$19.60	\$1,548
		0001	0190	8061016	SEDIMENT REMOVAL	7.00	-7.00	0.00	CUYD	0.00	\$53.30	\$0
		0001	0200	8061017	TEMPORARY SEEDING	0.10	-0.10	0.00	ACRE	0.00	\$5,320.00	\$0
		0001	0210	8061019	SILT FENCE	420.00	-355.00	65.00	LF	65.00	\$6.90	\$448
		0001	0220	8064134	TYPE 1D EROSION CONTROL BLANKET	689.00	0.00	689.00	SQYD	689.00	\$3.60	\$2,480
		0040	0230	9031250A	U-CHANNEL POST, 3 LB	111.00	32.00	143.00	LF	143.00	\$55.60	\$7,950
		0040	0240	9035069A	SHF-FLAT SHEET FLUORESCENT	36.00	0.00	36.00	SQFT	36.00	\$35.60	\$1,28
		0070	0250	2061000	CLASS 1 EXCAVATION	99.00	0.00	99.00	CUYD	99.00	\$60.30	\$5,969
		0070	0260	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$39,000.00	\$39,000
		0070	0270	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	108.00	0.00	108.00	SQYD	108.00	\$156.60	\$16,912
		0070	0280	7011105	DRILLED SHAFTS (3 FT. 6 IN. DIA.)	120.00	-18.05	101.95	LF	101.95	\$740.00	\$75,443
		0070	0290	7011204	ROCK SOCKETS (3 FT 0 IN. DIA.)	123.00	29.30	152.30	LF	152.30	\$450.00	\$68,535
		0070	0300	7011300	VIDEO CAMERA INSPECTION	6.00	0.00	6.00	EA	6.00	\$53.00	\$318
		0070	0310	7011400	FOUNDATION INSPECTION HOLES	183.00	0.00	183.00	LF	183.00	\$120.00	\$21,960
		0070	0320	7011600	SONIC LOGGING TESTING	6.00	0.00	6.00	EA	6.00	\$4,650.00	\$27,900
		0070	0330	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	395.00	-3.70	391.30	LF	391.30	\$117.00	\$45,782
		0070	0340	7027000	PILE POINT REINFORCEMENT	10.00	0.00	10.00	EA	10.00	\$135.00	\$1,35
		0070	0350	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	99.00	0.00	99.00	CUYD	99.00	\$814.10	\$80,595
		0070	0360	7034219A	TYPE D BARRIER	462.00	0.00	462.00	LF	462.00	\$101.00	\$46,662
		0070	0370	7034221	SLAB ON CONCRETE NU-GIRDER	621.00	0.00	621.00	SQYD	621.00	\$322.15	\$200,055
		0070	0380	7056021	NU 35, PRESTRESSED CONCRETE NU-GIRDER	614.00	0.00	614.00	LF	614.00	\$394.00	\$241,916
		0070	0390	7061060	REINFORCING STEEL (BRIDGES)	25,730.00		25,730.00	LB	25,730.00	\$1.40	\$36,022
		0070	0400	7123610	SLAB DRAIN	32.00		32.00	EA	32.00	\$350.00	\$11,200
			0410	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,050.00	\$2,10
		0070	0410	7161000	PLAIN NEOPRENE BEARING PAD	6.00	0.00	6.00	EA	6.00	\$1,050.00	\$2,100
		0070		7161000	LAMINATED NEOPRENE BEARING PAD			12.00		12.00		
		0070	0430			12.00			EA		\$300.00	\$3,600
		0001	5001	6189901	MISC.Contract Bond Payment	0.00	1.00	1.00	LS	1.00	\$28,596.00	\$28,596

Revision 4/1/2020 Page 4 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: 1 Osted Q	uanililics	and value	Jo alc b	ascu on it	eport Generated date and can differ from the posted and	unit at the	unic unc	Louinate W	as Ochic	natou.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
211119-A08	J1S3213	0001	5002	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	0.00	6.00	6.00	TONS	6.00	\$196.19	\$1,177.14
		0001	5003	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	0.00	8.50	8.50	TONS	8.50	\$192.82	\$1,638.97
		0001	5004	1094000	FORCE ACCOUNT	0.00	1.00	1.00	EA	1.00	\$1,224.28	\$1,224.28
	Project J1	1S3213 - To	tal Value	Posted to E	ate as of Report Generated Date							\$1,159,234.58
211119-A08 Overall - Total Value Posted to Date as of Report Generated Date											\$1,159,234.58	

Revision 4/1/2020 Page 5 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

The information below this line are details for Construction Signs (if applicable).

No Data Available

Page 6 of 10 Revision 4/1/2020



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J1S3213	0030	CLASS A EXCAVATION	Price FUEL		24	Jan 3, 2023	SYSTEM	\$0.20	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$0.20	
			Price FUEL - T	otal				\$0.20	
	0030 -	Total						\$0.20	
	0040	EMBANKMENT IN PLACE	Price FUEL		19	Oct 3, 2022	SYSTEM	\$166.99	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$166.99	
			Price FUEL - T	otal				\$166.99	
	0040 -	Total						\$166.99	
	0060	TYPE 1 AGGREGATE FOR BASE (4	Material		19	Oct 3, 2022	SYSTEM	(\$8,228.00)	
		IN. THICK)			20	Oct 17, 2022	SYSTEM	(\$8,228.00)	
					21	Nov 3, 2022	SYSTEM	(\$8,228.00)	
					22	Dec 1, 2022	SYSTEM	(\$8,228.00)	
				- Total				(\$32,912.00)	
			Material - Tota					(\$32,912.00)	
			MaterialCredit		20	Oct 17, 2022	SYSTEM	\$8,228.00	
					21	Nov 3, 2022	SYSTEM	\$8,228.00	
					22	Dec 1, 2022	SYSTEM	\$8,228.00	
					23	Dec 15, 2022	SYSTEM	\$8,228.00	
				- Total				\$32,912.00	
			MaterialCredit	- Total				\$32,912.00	
			Other Item Adjustment	MDPA	23	Dec 15, 2022	huntb1	(\$924.39)	10% deduction in payment due to incorrect sample record given. Sample record was given for rock from Bethany and the rock was from Ravenwood
				MDPA - Tota	al			(\$924.39)	
			Other Item Adj	justment - To	tal			(\$924.39)	
			Price FUEL		19	Oct 3, 2022	SYSTEM	\$152.46	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					23	Dec 15, 2022	SYSTEM	\$5.60	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$158.06	
			Price FUEL - T	otal				\$158.06	
	0060 -	Total						(\$766.33)	
	0080	TYPE 2 ROCK	Overrun	Overrun	19	Oct 3, 2022	SYSTEM	(\$3,192.80)	
		BLANKET			23	Dec 15, 2022	SYSTEM	\$3,192.80	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',52.00000 - 52.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
	0080 -	Total						\$0.00	
	0090	TYPE 2 ROCK	Overrun	Overrun	19	Oct 3, 2022	SYSTEM	(\$798.20)	
		BLANKET			23	Dec 15, 2022	SYSTEM	\$798.20	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',13.00000 - 13.00000, 'is applied (if non-zero).
				Overrun - To	otal			\$0.00	,
			Overrun - Tota		orai			\$0.00	
	0090 -	Total	Ortenan - Tota					\$0.00	
			Motorial		21	Nov. 2	CVCTE14		
	0140	4 IN. YELLOW	iviaterial		21	Nov 3,	SYSTEM	(\$2,917.12)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks			
J1S3213	0140	WATERBORNE PAVEMENT	Material			2022						
		MARKING			22	Dec 1, 2022	SYSTEM	(\$2,917.12)				
				- Total				(\$5,834.24)				
			Material - Tota	l				(\$5,834.24)				
			MaterialCredit		22	Dec 1, 2022	SYSTEM	\$2,917.12				
					23	Dec 15, 2022	SYSTEM	\$2,917.12				
				- Total				\$5,834.24				
			MaterialCredit	- Total				\$5,834.24				
			Overrun	Overrun	21	Nov 3, 2022	SYSTEM	\$1,231.72	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user huntb1 overridding Payment Estimate Exception 7 on the current Payment Estimate.			
					21	Nov 3, 2022	SYSTEM	(\$1,231.72)				
					22	Dec 1, 2022	SYSTEM	(\$1,231.72)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).			
					22	Dec 1, 2022	SYSTEM	\$1,231.72	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user huntb1 overridding Payment Estimate Exception 7 on the current Payment Estimate.			
					23	Dec 15, 2022	SYSTEM	(\$1,231.72)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).			
				Overrun - T	otal			(\$1,231.72)				
			Overrun - Tota	ıl				(\$1,231.72)				
	0140 -	· Total						(\$1,231.72)				
	0150	PERMANENT EROSION CONTROL	Overrun	Overrun	19	Oct 3, 2022	SYSTEM	(\$259.17)				
		GEOTEXTILE			23	Dec 15, 2022	SYSTEM	\$259.17	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2.80000 - 2.80000, 'is applied (if non-zero).			
				Overrun - T	otal			\$0.00				
			Overrun - Tota	ıl				\$0.00				
		· Total						\$0.00				
	0170	SEEDING - COOL SEASON	Material		19	Oct 3, 2022	SYSTEM	(\$1,064.00)				
		GRASSES			20	Oct 17, 2022	SYSTEM	(\$1,064.00)				
					21	Nov 3, 2022	SYSTEM	(\$1,064.00)				
					22	Dec 1, 2022	SYSTEM	(\$1,064.00)				
					24	Dec 15, 2022	SYSTEM					
					25	Jan 3, 2023 Jan 17,	SYSTEM	(\$1,064.00)				
					25	2023	STOTEM	(\$1,004.00)				
				- Total				(\$7,448.00)				
			Material - Tota					(\$7,448.00)				
			MaterialCredit		20	Oct 17, 2022	SYSTEM	\$1,064.00				
					21	Nov 3, 2022	SYSTEM	\$1,064.00				
								22	Dec 1, 2022	SYSTEM	\$1,064.00	
					23	Dec 15, 2022	SYSTEM	\$1,064.00				
					24	Jan 3, 2023	SYSTEM	\$1,064.00				



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks						
J1S3213	0170	SEEDING - COOL SEASON	MaterialCredit		25	Jan 17, 2023	SYSTEM	\$1,064.00							
		GRASSES		- Total				\$6,384.00							
			MaterialCredit	- Total				\$6,384.00							
	0170 -	Total						(\$1,064.00)							
	0180	ALTERNATE DITCH CHECK	Overrun	Overrun	19	Oct 3, 2022	SYSTEM	(\$842.80)							
					23	Dec 15, 2022	SYSTEM	\$842.80	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',19.60000 - 19.60000, 'is applied (if non-zero).						
				Overrun - T	otal			\$0.00							
			Overrun - Tota	ıl				\$0.00							
	0180 -	Total						\$0.00							
	0220	TYPE 1D EROSION CONTROL	Material		19	Oct 3, 2022	SYSTEM	(\$2,480.40)							
		BLANKET			20	Oct 17, 2022	SYSTEM	(\$2,480.40)							
					21	Nov 3, 2022	SYSTEM	(\$2,480.40)							
					22	Dec 1, 2022	SYSTEM	(\$2,480.40)							
					23	Dec 15, 2022	SYSTEM	(\$2,480.40)							
					24	Jan 3, 2023	SYSTEM	(\$2,480.40)							
				- Total	25	Jan 17, 2023	SYSTEM	(\$2,480.40)							
			Material - Tota												
			MaterialCredit		20	Oct 17,	SYSTEM	(\$17,362.80)							
			MaterialCredit		21	2022 Nov 3,	SYSTEM	\$2,480.40 \$2,480.40							
					22	2022 Dec 1,	SYSTEM	\$2,480.40							
					23	2022 Dec 15,	SYSTEM	\$2,480.40							
					24	2022 Jan 3,	SYSTEM	\$2,480.40							
					25	2023 Jan 17,	SYSTEM	\$2,480.40							
						2023		044-000-00							
				- Total				\$14,882.40							
			MaterialCredit	- Total				\$14,882.40							
	0220 -							(\$2,480.40)							
	0290	ROCK SOCKETS (3 FT 0 IN. DIA.)	Overrun	Overrun		Jul 1, 2022	SYSTEM	(\$13,185.00)							
		,			14	Jul 18, 2022	SYSTEM	\$13,185.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',450.00000 - 450.00000, 'is applied (if non-zero).						
				Overrun - T	otal			\$0.00							
			Overrun - Tota	ıl				\$0.00							
	0290 -	Total						\$0.00							
	0370	SLAB ON CONCRETE	Construction Stockpile		15	Aug 1, 2022	SYSTEM	(\$2,373.80)	Payment Estimate Item Adjustment generated Stockpile Transaction						
		NU-GIRDER		16	16	16	16	Aug 16, 2022	SYSTEM	(\$2,967.25)	Payment Estimate Item Adjustment generated Stockpile Transaction				
												17	Sep 1, 2022	SYSTEM	(\$5,934.50)
					23	Dec 15, 2022	SYSTEM	(\$593.45)	Payment Estimate Item Adjustment generated Stockpile Transaction						





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J1S3213	0370	SLAB ON CONCRETE	Construction Stockpile	- Total				(\$11,869.00)	
		NU-GIRDER	Construction	Stockpile - To	otal			(\$11,869.00)	
			Construction Stockpile		12	Jun 16, 2022	SYSTEM	\$11,869.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$11,869.00	
			Construction	Stockpile STI	/II - Total			\$11,869.00	
	0370 -	Total						\$0.00	
	0390	REINFORCING STEEL	Construction Stockpile		13	Jul 1, 2022	SYSTEM	(\$17,507.28)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(BRIDGES)		- Total				(\$17,507.28)	
			Construction	Stockpile - To	otal			(\$17,507.28)	
			Construction Stockpile STMI		12	Jun 16, 2022	SYSTEM	\$17,507.28	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$17,507.28	
			Construction	Stockpile STI	/II - Total			\$17,507.28	
	0390 -	Total						\$0.00	
J1S3213 -	- Total							(\$5,375.26)	
Overall -	Total							(\$5,375.26)	